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Note :
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Answers may be written either in English or in Hindi; but the same medium should be

used throughout the paper.
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Section A
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State whether the following statements are true or false (Do any five) : 5
frfefian # 4 S8 T v a1 o § (A T )
(/) Logic is the study of methods for evaluating argumgnts.
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‘All women are'politiciané" and ‘some. women ar_e*pol'iticians’ are contrary to each

other’.
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Contraposition of I_proppsition is valid.
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Theun.iversal. .pr.opositioﬁ dlbesn’t have existential import.

In the proposition ‘Some students ar;e players’ _both subject and _pfédié;elte terms

are distributed.

mﬁméff@wé% wmﬁﬁmamﬁ%ﬁqam.
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A valid a;glim'ent can have true prerﬁises and false ;:onclusio,n.
@éagﬁam,aﬂaﬂ‘wmﬁﬁmm'@m% !
A sylloglsm always has two premises.
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(viii) AOO 15 a valid mood in Figure II
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(B) Fill i the blanks (Do any five) - s
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Conversion is .........ocooooovoo . .. inference.

In categoricél syllogism when both the premises are universal and coﬂclusiun is particular -

there is ..o, falfacy.
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Middle term must be ........................... R in syllbgistic argument.
QEF ﬁ@a mﬁﬁf ﬁ He -qa SAIERT LT TR PP a?" % |.
AEE S ool .. mood in Figure 1. =~

The sténdard'form of ‘Few mangoes are not yellow’ is
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Conversion of ......... Sttt s e proposition is not valid.
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() Answer br:ieﬂy (Do any ren)-: ) . : I 10_x2=20 :
s s A (A 7w A ¢
(i.) Explain the difference betwgen Sentepce z_md Proposition.
A d R A omen w1
(if)  Why the conversion of-‘A’ 15 ‘7
‘A’W.Wﬁa?h ‘1=.aﬁi€m% ?
(i) Define the fallacy of illicit major.
q& 9E-3 aﬁ_wﬁ%:nsn dfee |
(iy) Define deductive reasoning.
ﬁ?ﬁﬂm ke w af afs B
(v) State the obverse of _‘No organic compounds are metal’.
(vi) State the conve.rse of .‘No' sdints were martyrs’. |
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(vii) What do you understand by immediate inference ?

."m%a_awﬁmwwu%?

(viiiy When ‘T" proposition is true what is the truth value of corresponding A proposition .

éﬁd why 7
VAT AR I Ad T @A Wl B ode ged w@ A R
R 2 | | |
(&) - What is the signiﬁca'nce_‘of middle term in the categ’oripal syllogism ?
o fRig =g & wem w @ o e R 2 |
(x} Why can O proposition not be converted ?
o wfafa ®1 wfiwdt # W & www ¥ 2
- (A.Ci) Is AEO a valid mood in First Figure ?
F AW SRR § AEO Sy st () & ?
(xi7)  What do yo-u understand by'Qualify :'m.dQuantlity of a proposition ? -

uﬁaﬁaiqwqﬁwﬁmm@_mwmaﬁ%?
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T(xz'ii) Name the four'oppols'iti(‘)n _relatiqn e>.(p1a'med- by Traditionéi square of ~opposiFi6n.

TR fordter =t gm wreatan 4 ol gael & A a1 "
(xiv) Reduce into standard form of the following :

(a) Logic étudents argue with facilify.

e & frae g w A T mﬁ%l

(h) Few mathefnaticighs are scientis}s; |
(xv) Give the contm(iictory of the follovﬁhg :

.(a) ' S;amé. books are expe'ns.'ive.

() Alf soldiers are t;rave.
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."Answer any three questions : o - _' - 3x5=]5

() Define fi gures ancf mood in categoﬁcal syllogism. Give illustl;ations.
Frdy e § STER U e B o #RE | See AR 1
) Exialain and illustraté mle§ of éonversibn. |

(iii) | .Howthe modem.a'ppr'oach to opp;)sitidn (jfpropositi(.)nAi-s aj'oﬁ to the Tra&iﬁonal ‘-square.
-~ of o‘pposition 7 |
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(v} Can évalid categoﬁcal .sylloéism have a term d_istributed in conclusion but undistrlbu;ed
.in premise ‘7 Explaig with exa'm.ple.
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(v). Write a short note on ‘Distribution of Terms’.
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3. Putany one of the following into standafd_fonn of cétego_rical s‘y]logisrrj and‘-indicate_itsg'Fig-ure__ :

and Mood and tesi its validity using siﬁ rules : : , T 4+1+1=6
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" () - No musicians are astronauts a]l musicians are baseball fans ‘consequently no astronauts

are baseball fans.
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Or
(3teram)
(i) No mechanics are writers and some photographers are writérs. Thus some

photographcré are mechanics.
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4.  Test the validity and invalidity of any two of the followir;é D -, _ 2+2:.4
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Identify and explain the informal fallacies committed in the following passages (Do any

five)
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Each player of this cricket team is an excellent athlete Therefore the team asa whole

is excellent.
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Napoléon became a great emperor because he was so short.
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Noted cricketer Sachin Tendulkar recommends that you buy MRF tyres. So we shoﬁld .

bu.y MRF tyres.
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Have you finally started taking your studies senously ?
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(1{) ‘The object of war is durable- peace, thus, _soldiér‘s _'are_the best peace makers.
@ W s wh ik ;o e i W E
(vi) Listen to my commands; otherwise you will bf;' be_hi.n.d-tl;e bars ‘
# Ry A o T e $ B T
(vii) Can you_se;ld a person to jail, the fz;tﬁer of five children whé lost their m.oth_er only
.t\.NO 'weeks ago ? ,. |
i o T A A d W A e A
o a3 A T R A A A A AR 2
6.  Explain and illustrate any mwo o_fthé followi-ng: ' .2x5'—-.;_1;) A
Profefga § ¥ f6d @ @ GERW SEn HT
(@ éomplf:x question . | |
- (id) ~ Argument ﬁom Ign.orance o | | | o | .
(i) . F.aiiacy ot; composition.
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